Problem 1

For the information system given below, find the set of all 
coverings of  and the core.  
Assume that Dom(E)={e1,e2}, Dom(F)={f1,f2}, 

Dom(C)={c1,c2}. {E,F,G} are classification attributes.
	X
	E
	F
	G
	C

	x1
	e2
	f2
	g3
	c2

	x2
	e1
	f2
	g1
	c1

	x3
	e1
	f2
	g2
	c1

	x4
	e1
	f1
	g1
	c2

	x5
	e2
	f2
	g1
	c2

	x6
	e1
	f1
	g3
	c2


Problem 2.

Discretize both attributes a and b in the Decision Table T(d). {a,b} are classification attributes.
	X
	a
	b
	d

	x1
	0.8
	2
	1

	x2
	1
	0.5
	0

	x3
	1.3
	3
	1

	x4
	1
	1
	0

	x5
	1.4
	2
	0

	x6
	1.6
	3
	1

	x7
	1.3
	1
	1


Decision Table T(d).

Problem 3.

Find optimal reduct in Table 1 and Table 2 following RSH (RS Heuristic) strategy. 
Attribute  f  is the decision attribute.


a          b
     c
        d         f

	x1
	   1
	   1
	    2
	    1
	    1

	x2
	   2
	   1
	    2
	    2
	    0

	x3
	   1
	   2
	    2
	    1
	    1

	x4
	   2
	   1
	    1
	    2  
	    1

	x5
	   3
	   1
	    2
	    2
	    0

	x6
	   3
	   2
	    1
	    2
	    1

	x7
	   2
	   2
	    1 
	    2
	    1


Table 1.

	
	a
	b
	c
	d
	e
	f

	x1
	1
	0
	0
	0
	2
	1

	x2
	1
	0
	0
	1
	2
	0

	x3
	1
	1
	0
	1
	0
	1

	x4
	0
	1
	1
	2
	0
	0

	x5
	0
	2
	1
	2
	0
	1

	x6
	2
	2
	0
	0
	1
	1

	x7
	2
	0
	1
	1
	1
	0


Table 2.
